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CMS 137fb~" (13 TeV)
H—yy %4 MADGRAPH5_aMC@NLO, NNLOPS ggH + HX
W" <47 ##% MADGRAPH5 aMC@NLO ggH + HX
Ph > 30GeV ##% POWHEG ggH + HX
0.2 Nies > 2 — HX =MADGRAPH5 aMC@NLO VBF+VH-+ttH
ets =
Anjrja > 35 + Data, statosyst unc.
mj; > 200 GeV syst unc.
p-value(nominal SM): 0.354
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,CMs 1371b " (13 TeV)
H-yy ##% MADGRAPH5_ aMC@NLO, NNLOPS ggH + HX
|| <47 #4% MADGRAPH5_aMC@NLO ggH + HX
P"i =~ 30GeV ##% POWHEG ggH + HX
Njets > 2 — HX=MADGRAPH5 aMC@NLO VBF+VH+ttH
A]U L > 35 4+ Data, stat@syst unc.
L -
27 mj; > 200 GeV systunc.
p-value(nominal SM): 0.139
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CMS 137fb~" (13 TeV)
Hoyy #4% MADGRAPH5 aMC@NLO, NNLOPS ggH + HX
] <47 ##% MADGRAPH5 aMC@NLO ggH + HX
40 Pi > 30GeV ##% POWHEG ggH + HX
i > 2 —  HX = MADGRAPH5 aMC@NLO VBF+VH-+ttH
An; 1; =35 + Data, statesyst unc.
mj; > 200 GeV syst unc.
30 p-value(nominal SM): 0.011
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CMS 137fb~" (13 TeV)
Ho ##% MADGRAPH5 aMC@NLO, NNLOPS ggH + HX
0.04 ‘rﬂ" 47 ### MADGRAPH5_aMC@NLO ggH + HX
P> 30 GeV #7%% POWHEG ggH + HX
> 9 —  HX = MADGRAPH5_aMC@NLO VBF+VH+tH
e > 2
A‘“,] 2> 35 <+ Data, stat@syst unc.
11,02 -+
mj; > 200 GeV syst unc.
- p-value(nominal SM): 0.127
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